Chapter 6 Test Review |

Part I: Work these problems without the calculator,

1. Find the following trigonometric functions of the angle in standard position whose terml | side
passes through (-8, 5).
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2. Find the exact values of the angles:
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h. cos 1 i. tan 240
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Part III: You will need the help of a calculator calculator for these problems. DI’J

18 Find cot@ ifcos & = — and cscd > 0, ZU/{M.L 2 &4/00&/71/6 3 &M/afw 7 I

15, tan[Cos
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20. Find the reference angles:
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On 21 and 22 use the right triangle XYZ where £ Y is the right angle.
21, z = 3 and y = 7 find measure of sidexand £2Z ithe nearest tenth. S
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22. £Z =63.8 and x = 35 find the measure of side y and side z. / Z— 25 ‘4
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On 23 - ié, I?I’nd thea les and 5|des to the nearest tenth. Find all measures if two
solutions exist. EE=S

23 In triangle DEF if £ D =32, ZE = 108 and f = 12, find the measure of sides d and e.
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26. In triangle ABC, a = 52, ZA =74, and £C = 38. Find the measure of side c.
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27. The angle of elevation from an observer on the street to the top of a building is 73°. If the
observer is 6 ft. from the base of the building, how tall is the building?
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/Q&B Wires oﬁengths 20 m and 30 m extend from the top of a tower to the ground on the same side
of the tower. The shorter wire makes an angle of 42° with the ground. What angle do the wires
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29. In an isosceles triangle the legs have a measure of 22.5 and the base has a measure of 11. To
the nearest tenth, find the measure of a base angle.
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30. Change 165" to radis 31. Change — mto degrees
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Given the Circle, find th h and the Area of the Sector.
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i 34. Find the area of the triangle with sides of length 8 and 14 and the included angle of 35 degrees.
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35. Find the area of a triangle with sides of length 5, 6, and 8. 'e
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